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“It is wholehearted purposeful activity 1.

organised in social environment.” This
statement indicates towards which teaching
method ?

(A) Demonstration

(B) Heuristic

(C) Problem Solving

(D) Project

The level of anxiety which makes student 2.

receptive of learning is :

(A) No anxiety

(B) Excessive anxicty

(C) Normal anxiety

(D) Learning has no relationship with anxiety

In team teaching, a team of : 3

(A) Teachers, who prepare the teaching plan
and implement it

(B) Students, who prepare the teaching plan
and implement it

(C) Teachers and students, who prepare the
teaching plan and implement it

(D) None of the above

Personality traits of Mesomorphic individuals 4.

are :

(A) Traditional and social
(B) Peace loving and solitary
(C) Energetic and angry

(D) None of the above

Teaching strategy is a : 5.

(A) Plan to achieve objectives
(B) Method of teaching

(C) Extra activity in the class
(D) None of the above

‘Known to unknown’ is a : 6.

(A) Teaching Method
(B) Teaching Maxim
(C) Teaching Technique
(D) Teaching Device

To understand the heredity, you must 7.

understand :

(A) The law of similarity
(B) The law of variation
(C) The law of regression
(D) All of the above

"8 AT araTaRvl § G o 9 aren
UHTS IqeeAYY Harbay 2 | I8 S R
P fob Al 9 IR dba F=ar 8 ?

(A) TEIH

(B) TRRes

(C) T FHM

(D) UNide

fRiaT &7 98 WX o B B W @ ford TR

FAT L, e

(A) friar 7 g

(B) 3rfed foar

(C) 9 far

(D) 3ferm (gen) &1 fRiar @ @1 Gag T &

oo e H T R

(A) JEAgd! P, AT e o B TR BN
IGHT fharag= o ©

(B) BTE &I, S R0 AT B TR TR ST
forarags v @

(C) 3EAUdI U BT @, W e I o
IR PR IGPT harags & &

(D) SWH # ¥ B TE

IABR IRING T adl Afdd § 9 o
el Afdded TOT 81l & -

(A) WERMEG! T4 GHIS

(B) wif<i g vd gaic g

(C) irdfiel Td @il

(D) SW H ¥ Pl T8l
fRrefor g ¥e &

(A) eIl BT U A DI JIoT
(B) R ot fafey

(C) werm 7 afaRad foan

(D) SWH 7 | B Tl

T T P AR B, D
(A) e fafer

(B) R g

(C) Rmego d-id

(D) R Ffe

TAFH B GHFH B ford AMUD! AaWD w4
THEAT &1 :

(A) TEF &7 199

(B) f=ar &1 fram

(C) Wform+ &1 |

(D) UG Tl
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8.  One of the following is not the method of 8.  fy=filRed # & ve ey = & fafdy =&f &
educational‘ measurement : (A) HEHR
(A) Interview (B) Ae—gehid qoerr
(B) Norm-referenced Test it
(C) Questionnaire ©
(D) Observation (D) 3Tl

9. What is the real carrier of hereditary traits ? 9. Wﬁﬁﬁ Tfﬁ & IRAAG HaEd a1 &
(A) Chromosomes (A) U A
(B) Nucleus (B) i)
(C) Genes (C) w1
(D) None of the above (D) qmj?ﬁ H ¥ Bl3 Tl

10. A child is scared when he see black dog, black 10. S 9I6d @l a1, Blell [doetl U4 BT dIe &
cat and black coat. This conditioning is SGP S T T B| 39 WOR RSCECE| L
involved in : fafga 2 -
(A) Generalisation of response (A) eﬂjﬁb‘ﬂT B ATHRITH
(B) Generalisation of stimulus (B) SEIUd BT AHMITE
(C) Both (A) & (B) (C) 3 (A) R (B)
(D) None of the above (D) TﬂT{i?ﬁ i ¥ g e

11.  The practical method to make student understand 11. e a1 #feq u=l &1 od wwgm @l
the meaning of the difficult word is to : Taeie faf &
(A) Teach them usage of such words in (A) O T BT adl § T S g

sentences '

(B) Give their antonyms (B) faw S Al A A
(C) Give their synonyms © TR ¥
(D) None of the above (D) Sud H ¥ BIg eI

12.  Personality of an individual is which aspect of 12. ofda, fodfl afdd @ @aeR &1 &9 AT Wl & ?
his behaviour ? (A) HFFIHS Ue
(A) Cognitive -a.spect (B) R—FSTTES U8
(B) Non-cognitive aspect
(C) Intellectual aspect (©) dfe® T
(D) External aspect (D) d9eg 98

13.  As a teacher, if you want to correct the bad 13.  3eausd 89 & Ard gfe g fadt faemeft g4
habit of a student, which theory of learning red @ e *g ar Brarcsd Qo 991
you will keep in mind while planning the TR AT AR B b Rigid @ s & e
action ? - '
(A) Insight Theory (A) fe g
(B) Trial and Error Theory (Rl S iﬁ'f il ‘
(C) Classical Conditioning Theory (© Ricin SRCRCH Rrga
(D) Field Theory (D) & fagia

14. V\lf’hy micro—teaching is important for 14, PET—Pe] TR %Tj ﬂ&q—ﬁTﬁW FT AT © ?
classroom communication ?
(A) To get feedback ) %ﬂwﬁ %‘%
(B) To develop various skills (B) @ faare %g
(C) To complete the lesson (€) TS Tﬁ & %ﬁ
(D) To evaluate (D) Wﬁ %g

15.  The behaviour ofa teacher may be from “verbal’ 15. 99w yfhar § R &1 ader Wi @
to ‘non-verbal’ in communication process. ‘anfead’ T B Hohdl ¢ |
(A) It is true (A) Tg TE 2
(B) Ttis not true (B) T8 Tdd @
(C) It is partially true (C) uE ¥if¥rd &y § 9el 2
(D) None of the above (D) Emiﬂ; i B T
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16.  While doing group teaching, out of the 16. Fﬁ%‘cﬁ—ﬁ[&iﬂ o gy feenfdal @ afedrd
following, which method you will apply to TR & HHEE %@ fefafled § 9 a9 &
solve individualized problems of each student? & fafer &1 v S ?

(A) Lecture (A) 9T
(B) Programmed Instruction (B) IR Rt aaa‘w
(C) Tutorial (©€) Qﬂﬂ—cp‘[
(D) Demonstration (D) eI

17. While assigning a ‘project work’ to the 17. BE & TRIW B <7 99 U6 RETd B
stl.ld:l:n:ls, a teach}:r should always keep in T SIF A @A IRy 6 gHa
mind that it must have :

(A) Educational purpose ) W A & ,

(B) Relation with real life situations (B) Way qriad g ot aRRRerfcr § &
(C) Learning by activity (C) e fopar gr &

(D) All of the above (D) Sudh a4

18.  Right to Education Act, 2009 has a provision 18. Ty & SfderR =R, 2009 # g % :

?X): Right to free and compulsory education i R
ight to free an u S T e
(B) Nf mental and physilcj:al pu)rzlishment to (B) di@ i , '@ avs 1 fg
child (C) 9T ARPRI & TRET DI Fawel
(C) Arrangement for protection of child rights (D) G'q?:‘j?ﬁ o
(D) All of the above

19.  Teaching aptitude means : 19. R afmr § aed €
(A) Devotion towards teaching work (A) e & & ufe wwdw
(B) Desire to become a teacher (B) Rierd T99 F 3T 7@

(C) All the requisite abilities for profession ©) Rers & araa A T A Arnt R
of a teacher .
(D) Good rapport with student (D) BT ¥ 321 Heftlct

20.  From the following, which is the best method 20. frfoRad & 9 fad faemft @ sm=aRe =l
of measurement of a student’s inner feelings ? P HT P! Garq gy e i g ?
(A) Questionnaire (A) e
(B) Interview (B) HEHR
(C) Sociometry (C) AR
(D) Transplantation method (D) YARMY fafdy

21.  The cognitive behavioural skill of enabling the ~ 21.  SMIH® FIERITd PRI & = et ot
learner, to understand the use of theoretical Jgifcad doEl & IYATT BT arxfad gRRefaar
statements in real situations is called : ¥ 9 B 9o 9T hedardl ©
(A) Understanding (A) 3fds™
(B) Application (B) gﬂmﬂr{

(C) Analysis (C) faermor
(D) Synthesis (D) IOl

22.  While writing on the blackboard, out of the ~ 22. JUMUE W for@d WHY, 3eR| &l ATBR T Gas|
following options, what will you specially keep 3 fordl 3y 5y 971g &1 9N g & ?
in mind to decide about the size of letters. (A) WIS T eyt & ma @

(A) Distance between blackboard and students (B) TAMUE Burs o m iﬂ
(B) Distance between blackboard and teacher
(C) TEN—PeT B TG
(C) Length of classroom . )
(D) None of the above (D) SUgH § @ B Tl
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23.  From the following, which one is not the - 23. f=ifead 49 o 9 9 e vd Wl
element of ‘guidance and counselling’ ? FIATAR R ?
(A) Adjustment (A) TR HRAT
(B) Orientation (B) I @ISR Bl
(C) To develop emotions (C) HaT &1 fadry e
(D) None of the above (D) ST # ¥ DI el
24, Which step is not included in Action Research ? ~ 24. e orgee # @i &1 ve wftdferd =& g
(A) Selecting the problem g7
(B) Generalisation of results (A) GFH1 BT 934
(C) Formulation of action hypotheses (B) URvmE &AMl
(D) Preparing plan to overcome the problem (©) St IREeqR &1 A
(D) TR B Q FE1 & forg e o
25.  The curve indicating complete information  25. 3fH & IR # T THGRI FT EaSEISICE
about learning is called : B BT ST B
(A) Curve of increasing return (A) dfegm CICREAGED
(B) Curve of decreasing return (B) BN 3MacH dsh
(C) Curve of equal return (C) M 3 %
(D) S—Shaped Curve (D) TH—3AER q5h
26. What is not essential for measurement of  26. 3IfSFTH HIUH XA B ford T AALAS TEI § ©
learning ? _ . (A) Rreor &1 gfeei @ uer o
(A) To know tactics of teachm.g . (B) st & e S B
(B) To know validity of examinations _
(C) To know reliability of examinations (C) TR Pl fagawiiaar g &
(D) To know acquired skills of the students (D) foenfdai grr afvla drerell B 1 $
27. Intelligence tests are used for : 27. g wemt & wnT o S e
(A) Grouping the students in school (A) foenmem & sl @1 e o & o
(B) Guidance purpose (B) freem @& WA %@
(C) Selection purpose (C) T T B YA %@
(D) All of the above (D) a'q'giﬁ T4
28.  Which of the following is not the clement of ~ 28. fy=faRad ¥ § BIF AT S uRacH diaat
‘Stimulus Variation Skill” ? &1 O T8l & °
(A) Set Induction (A) fa=ar oRor
(B) Movement (B) Hgod
(C) Gestures (C) TE-4[9
(D) Change in voice (D) TH—FTHT TRadH
29. A teacher plans his teaching learning process 29. TS e e Rrev—amim ufdar & do
keeping in view : TG FHY 1 H @l B
(A) The objectives formulated (A) fifiT Seew
(B) The human and physical resources (B) HF9 U4 Ao FarE
(C) Both (A)and (B) (C) T (A) Td (B)
(D) None of the above (D) ;{qgfﬁ 49 P A8l
30. How will you mainly develop self-discipline 30.  amg e faenfo § = R W LEEBNINE
among your students ? g voR el & ?
(A) Giving them responsibilities (A) P SREIE GdY
(B) Telling them rules for good character (B) I IRT B 9 O
(C) Giving punishment (C) € A
(D) Following the rules .
(D) Tl &1 e RS
25/31 87/107 A-4



3. “gH SOV-dierd ged ¥ a9 e wfe et g7 ufdd fha pfa @ @ 2

(A) P (C) T
(B) A (D) 3
32. ey aen YERER fbwd g falad Aes € ?
(A) TR TG (C) 9Rdg eRwa=
(B) HEH IO (D) IHHAR T
33, Iq UK HI Yfec T AT 9gIA H1 B T BT 7
(A) 39 (C) T
(B) IWI™ (D) &
34, gy B o R 2| we wRd e & e srgeos d forar mar & ?
(A) 343 (1) (C) 443 (1)
(B) 517 (3) (D) 334 (4)
35. ORI YR & Y B
SR (C) e |
(B) 3BT (D) & ¥ B Tl
36. ISYIPR WE FT AICH HITHN BT YHIIH $d g1 ?
(A) 1950 30 H (C) 1954 30 H
(B) 1952 50 # (D) 1956 30 #
37. Rt ol famed e o anfe” g ufdd fbw B @t & 7
(A) ST (C) BFH
(B) #EH (D) TRAA
38. dfgd Uwd $ed &

(A) T, T ol RO Il W et A @ () R, B Rt R T e 9 e T @
(B) W, ey ok frar R vl @ o @l & (D) §TH A BIS T

39. T, T GG B HH TR BT H @ 7

(A) ©c of®R (C) o dddR
(B) WIC ABR D) ff fre
40. SN @1 UB ST ®
(A) T SE @l (C) T BT
(B) S& @I (D) AIgd TS B
41, EER AREY, GERT R
(A) WEIEd aul & (C) HgE 4R T
(B) UeH g vl &1 (D) TR Fqae! &l
42, fywfofed # faer fam s & e el § o9 @1 frew o 72 8 7
(A) TH T<A & U (C) foaas @ 8%
(B) #7 et ugeg (D) femamfT
43, 'Bre I @ T B drel S o
(A) 3mard fiTa (C) R
(B) AT 9T dAleere (D) 3 f&Ta
44, fyfar Sugre § UEEE 3 9 @ Ry e @ 9oRT 8 7
(A) 91l fqarE @l (C) BI-gd @l
(B) &S yel @l (D) 3 faarE ol
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45.

46.

47.

48.

49.

50.

-} 18

32,

1

54.

585.

56.

57.

T TG H DI A U & ?

(A) P9 (C) 1

(B) 991 : (D) °yg

YT 9 ‘I BT yIfIar T8 §

(A) 3 (C) TaE

(B) 3w (D) Tago

S S e e A forar T B 7

(A) JATH HATHD (C) TITHD

(B) HERUTHE (D) SaaR®
To-Tel’ # PR B

(A) I (C) TN

(B) Tofd (D) THH

ffoRad & 9 fhae! THIRTNvErs $8M e T8l AFT T & ?

(A) 3= (C) gemas

(B) W= (D) TTiaR TE

o] HHNAT gRT folad amm gar @ -

(A) T A e Sy (C) ol TH & el RiaR
(B) T& o1 gal &l Wl (D) 3R AR, LI S

T FTEAVE H DI 61 G U N © 7
(A) TSR

(B) PYHRUERGIAT

T B TR GER 2

(A) FIREE Tgdal &

(B) FedTael 481 1

fe=lt wifecd & 5w 1 91 w@of g7 Far e g ?
(A) amfere
(B) Hfddare

(C) VeI eRRGAT IUHHRTTH
(D) VGRS

(C) wered! a9f &1
(D) oI @

(C) T BT
(D) IS HId

I a6l & ARAY TIGERY B SH fbd Pal ol & 2

(A) TR TE fgadh &
(B) UM< Il B

TEPIT IUUE B oGS §
(A) SIYIAR YHIG
(B) UHdq

T S HWR 3 A T a9 S forg v #

(A) e
(B) 3R

e fower & e 4,
Tl Bferdr SaT foud €|
T Bl & fbw o | forar T & ?
(A) oo
(B) SR

(C) U9 B
(D) INIRM HERE B

(C) <adH=< WA
(D) AR 9RAT

(C) ey
(D) 3Hd

(C) fomam
(D) W=

25/31

87/107



58.

59,

60.

61.

62.

63.

64.

65.

66.

67.

68.

69.

70.

71,

ARdT Hfau & Frifea seeal § e BT wieuE e @ ?

(A) AT 243 9§ 255 T (C) 3T 340 ¥ 355 TP
(B) 32T 343 ¥ 350 T (D) 3T 343 ¥ 351 TP
T ¥ Y e W R Il @1 w9 wRafia T8l e g, 3% ded ©

(A) fhamg (O REIEEL

(B) dqgar (D) Gad®

qfhan B Fladr TERRE IS [$9 B FYE | Whiord @ ?

(A) Farl 3R g1 dle (C) —farmT

(B) dfg &l 48 <ol @ (D) & 9N T &9 W)
T T &4 Il e & s B E ?

(A) faen frar fag (C) BRI wug

(B) =% (D) WeTed! aHi

o Aot wreg ¥ fobar @t &, S @Ed €

(A) fAurd (C) 3

(B) d19 (D) TTH
TMEHE] § B A Al g ?

(A) T (©) 3f&

(B) < (D) T

993 & U9 A W 99 g TR T & AGARI B g AT BT SGAYUGK I} W A e T A
aftf fovar & 2

(A) B9 T IO (C) WK, T IR 7™
(B) 3 T (D) el e ga
foRTen @1 ‘a1ed T Hiar fhar @vel # yHIRE & ?

(A) O Eei (C) ufa @i #
(B) R Gel A (D) © Wel #
g Wpearad | Aifedre i g T F e fbar @ ?

(A) 9 90T Bl (C) &R e BTt
(B) Rig 9m= @rdl (D) IR Bl
ST Bl 3R | WRA & Wed oo @l § o & °

(A) 05 (C) 03

(B) 07 (D) 11

fgaet g7 4 P 91 Ferera foa T @ ?

(A) Wb (C) HMHEH

B) B yar (D) 77 9 B3 el
2o | 31 G&pd ¥ I8 f Ped ¢ -

(A) B |fY (C) & |y

(B) &g Wy (D) & |
formforRea § @ “ffemre 2

(A) TR fged (C) gt et

(B) @Rdl (D) & 9 $Ig &l
M B e g B e Fra # daferd € ?

(A) 3FH® (C) g

(B) Tifder (D) ¥ ¥ BIg el
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N

73.

74.

75.

76.

71.

78.

79.

80.

81.

82.

83.

84.

85.

TG R T A &, 7 0 2, U 6 D PR © -

(A) gordier (C) HaNEH
(B) e (D) &N
TIART UFAGT BT FHTE b ©
(A) =< AEq A (C) #EREa™ el A
(B) W gFd (D) 74 ¥ B3 oI
o wal # At @ wen 3R B9 anfe &1 fAuw g@ar @ 9% ded ©
(A) HII® 8BS (C) S¥4 B%
(B) aftfe BT (D) &d B3
TN e o ek §
(A) A ©) 5B
(B) ¥ (D) %o
Ud Sff &I Ugell Hfdar & M # ¢
(A) T (C) Tur
(B) drom (D) RS &1 Huer
Arerdifher M ¥ URig Bfd &
(A) Wl (C) deavars
B) faemafa (D) QA YT
W B U@ AT FA & AABR DA § ?
(A) Ffhdm (C) T Hean
(B) PBraras (D) gHaR 9RAT
“HYEC of 94 F¥dl A
W IR & BH-GH
# oY BT O H Head

I8 fe wfdar @ uftpar & ?
(A) W (C) Hgderl
(B) WEIETell (D) fyem fomor
UHAE BT 9 R®IF 8 7
(A) Wl (C) HHE
(B) el (D) fa=el
yfemTeH # fhaw ofd & ?
(A) B (©)
(B) o (D) ¥rd
e & 9 B9 |1 I Fa) U a1 8 ?
(A) TTHHR (C) gHayf
(B) HIERBR (D) T AR
= § 9 gy qof 98 § ¢
(A) T (C) ¥
(B) (D) ¢
fortT, @M, FR® NfT & HRU vy uRafdd B9 9ot I 9 Hed &
(A) M (C) PRy
(B) faar (D) fagd
TN DU P D ¢ ¢
(A) Ui (C) IRE
(B) ¥HIEX WM W (D) &ReiAR wEE
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86.

&7.

88.

89.

90.

91.

92.

93.

94.

95.

96.

97.

98.

99.

100.

T TR X9 g1 ferfad ‘aem &1 A fa ey Ol @ o & 2

(A) HEMI (C) 3NHBATHE
(B) = (D) TG
fefoiad # 3 fvee & ot &

(A) Tordiler™ U9 qRe™ (C) feerd td <g
(B) ®eR Td Xg™ (D) TUYHR TG Td A
ﬁﬂﬁ@ﬁﬁéﬁﬂ#ﬁﬁﬁ%ﬁﬁ%—mammmqﬁﬁ—mﬁw
g ?

(A) e Seavrard o (C) frrarefard 3
(B) Tifaws fagammy 4 (D) & wWrie™ 3
ARIG T IRIAS 1 T 47 ?

(A) Tgaw (C) Hrrd

(B) #iavs (D) TR
HHTRPT W08 BING & MR T AR ERTT A I & e P T 3 ?
(A) N F=mEen TifeH (C) faam g=v

(B) i <dt (D) ¥ ERTT=
o ®fd o1 ‘AFTIS’ Her W@ & ?

(A) W (C) FoierE

(B) HaRErd (D) < 39
FHAD: B YIGaTEl I &

(A) 3¥E: (C) fesma:

(B) S%: (D) e
QE+ATTRA=arT, § B o iy R 2

(A) T Wi (C) gy Wy

(B) TV & (D) 3raife afd
JEY o & ?

(A EID (C) 7999

(B) IR AT (D) T4 ¥ PIg el
BT PO UG S I H DI A1 G TIG & ?

(A) TawafpRom (C) g
(B) ¥t 9y (D) $ ¥ P13 T
AIUE BE @ YAS W § fahel At 2t & ?

(A) 12 (C) 18

(B) 14 (D) 16
FT-gel B A &

(A) fassa &1 e (C) Tl &1 e
(B) wgamEr el (D) el Crell
fferiad § 4 e &1 wias o @7 8 ?

(A) Ha® (C) ueh

(B) w@m (D) UTdH

g9Ud XA P UGS M fhad gRT fegr may o ?

(A) 3Tt TR R (C) ¥RQ T FEIURAE ERI
(B) TUMRIY g gR (D) 37 ¥ B &l
TR’ U H P G GHE & ?

(A) TCIEY AN (C) &8 99

(B) FHIRY A (D) fe7 w9

ok 2k ok ok ok

25/31

87/107



TVHS

T A R v o au A R o A T o 2, @ aeh oo @ wr A

If there is any mis-match in Hindi & English version, then english version will be acceptable.
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Make the mark only in the space provided on the OMR Answer-sheet. Please neither make any stray mark nor
write your name on any part of the Question booklet and OMR Answer-sheet. Candidates are also
insturected that it is prohibited for trying to hide any circle by using fluid, eraser or scratch in any method.
Negative marks will be provided on these activities.
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Rough work is to be done in the Question booklet only.
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Darken only one circle corresponding to alternative answer that you choose for each question, as darkening of
more than one circle shall be treated as wrong answer,
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Example: Suppose Q.No. 41 of the subject is as below:

Q.No. 41:  What type of mixture is smoke ? g3l fobd YR @7 fiysor & 2
(A)  Solid mixed with a gas (A) 4 PAfda s
(B)  Gas mixed with a gas (B) = fafye i
(€)  Liquid mixed with a gas (C) i fifig wd
(D)  Gas mixed with a liquid and a solid (D) %4 79 3 fAfdag i
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If you think the correct alternative answer is (D), then fill in the relevant column of the same section of the OMR
Answer-sheet as follows:

W fafr Tora fafey

Correct method Wrong method
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(If more than one circle is darken or any impression by the candidate either properly or improperly then % mark will be
deducted for every question.)
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The candidates are strongly advised that in case they come across any discontinuity in the serial number of the

questions/pages in their Question-booklet, they should immediately inform the Invigilator so that missing pages, if
any, may be supplied to them.
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Use of electronics/manual calculator and any electronic equipment like mobile phone etc. is not allowed.
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There is NEGATIVE MARKING in this examination. For every wrong answer % mark will be deducted.
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On giving of two or more than two answer for every question, % mark will be deducted.

3. T WE-YRGE 9 SFeHIs iR Fe i (Rough Work) & 3ftRew g 7 fored |
Do not write anything except the Roll Number and rough work in this Question booklet.

4. mmﬁmommﬁWM$m@mmm¢mmmma}mmm
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Fold along perforation, given on the top of OMR Sheet and tear it slowly after examination is over. Candidate will
carry candidate’s copy and handed over the original and office copy of OMR Answer Sheet to the Invigilator.




